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Bell Ringer

Tuesday 12/18

1. What is factored form? What information is easily found in factored form?

Y =aCe-pX-g) ﬁj‘.—;

2. If 3 and — 5 are zeros of a quadratic function, what are the factors of the same function?

wis X

X+2) =06 X )‘-:0

3. If —2and 7 are zg@tmn, what is the function in STANDARD FORM?
l x+ \gé ) 4)’(2:-; ';g -X :-%
€3 Y= X5 Ix+2%- 14

\3; r'géz)”\ 4
€ A 10-\4= O
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=
' Name: _ Ken
Section 6.18 ’
Algebraic Proofs
Solve each equation. Write a reason for every step.
@1. 4x = 12x + 32 2. 28+12x=8x-4
(N Yx=zaese @ Gisaha (0 29 =g (D Glusrs
(@ -ax=3i @ Sbbvactiog prop o = @ 2EHMe= (B Subbvostion wp :;'
L (= -3 Gubdraction prop -
N = = D iis Dre@PEch, o T C?J “x 3E @ K
@ 1 @ Vigiges (re@echs @ g O Givisiom prop of =

60x 4 153 =9x + 51

B hdd oliens prog o =
@ E- Y. to) Frep & =

(@ Distrlubive frogerty
) Substvhubion froper iy
@ Additiam prop € =
@ Divisiow prog of =

(& whbhraetion prop of =
{5y Pwilipledion oo of =

4, 4% + 10 = -5x + 18
(1 box+15% = ardst () Givan D s et Eag| D Glrews
@ Fixrish= T @:’ Sablraction Prop = @ F T
G sin=-iot (D) Subdeaction prog =f D w2t
1) wmvz Bieisions Pro r =
) @ prop of
@5. 3K+ 2) = 16 -x 6. -x—2(9-8x) =12
O IETEN ST (0 Gloedn @-—xﬂ{'ﬂ«‘im\?m (D Giaers
@' IR vl =R @ Bll‘r*‘f:-bu*“i\g_ ?"W""'—j Q\ TN T
@ -e= brex G} Mdibiens grep. o ~ B) 1ea-1gen
@) ~za 70X @) Sublectiom prag of < ©
- 15 x5 B
3 wu=x @) Divsioe gap oF = B xez
I =
@ wm-n (D Fommatis prop 2F =
' 1
7. 6(x—-6)=x(16-7) @a. Zx+10=2
A b Oxee) =2 ) | Giames M dxie=i 0 Givan
@ (x5 = lexIn (D Distbutine puogecty @ Hre:-d
& ot =M (B Subsliturion Pregect, (B xe-3p
@ -2b= % |® Subteactiow prog ot % i
@ -1t 5X -

=

& Divisiaws Priog oF




4 - 6.2 Geometric Proofs.notebook December 18, 2018

i (3
@9 2(4-x)+1=16~3x 10. Sx+4=6x+12 4
@ L= 41 =16Bx () Glue @ fradzixaz (O Gius
() morett= L3R Fa Distribotive '\’mper‘{ﬂ] @ %“___ bt B @ .S‘u'ﬁw.eﬁ'w,.,g preg & =
sk ot 3 = -
&) a-Tr=te-d (D) Svbsidtion Prop & A - ) subackio prap of =
@ Qa4 = e @ P‘\é—;‘\"h&u grog o{— = & ~
E w=? (B Sobtrachen prop of = @) x= ""% (D metipliasfion prop of =
11, Givem:8x ~-F=12x+1
Prove:x = 1
Proof:
Statements Reasons
aBc—5=2+1 a_Given
b.3x~5—2x=2x+1—2x (@b. Sub{-gm\-‘mm prga_p,n(n N
e _(x-5 =) o ¢, Substitution Property
Ao py-g ts = i+ d, Addition Property
eBr=6 e Subgtitutions pregeriyy .
f. '%t‘:% f. D;ufs;mm __fffi’ffitl‘} et = ) :
g__ x.:}_ e B Subsdid }"!‘Du_ P"‘F‘ﬁ("'?
12, 13.
Given: &£ +6 _ g Given: dx + 8 =x + 2
Prove:x = -2
Proveix =3
Proof: 13'1:'00[ £
Statements Reasons. Statements 1 Reasons
. . - o = ] . i e
a, fh;rsn_‘g a Liven adx +B8=x+2 Ca_(iven
- —x= | B A r,
b, é(i’-:;—s) = 2(9) b, Mult. Prop. b. jx++28_ xt b. Svblveshian

c dx-6=18 ¢ Shstiben e. 3x +8=2 ¢. Substitution
ddr+6-6=18—-6|d Svblrachon

d.Z2x*g-%+=2-% | d. Subtr. Prop.
e dr = 13 e, Substitution
""" @e. LIRS -l | & Substitution
4y n P i
@ fi == =% f. Div. Prop. A -6 <
4 4 f. 3 1—3— £ Divisien
g..x=3 | g Substitution g _ ®z-2 g. Substitution

,
H
L



4 - 6.2 Geometric Proofs.notebook December 18, 2018

6.1C Due tomorrow :)

Questions??
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Name: Hr: 6.1 C Algebraic and Linear Proofs

Standard: Students will be able to prove algebraic calculations

1. Order the statements correctly. Then choose the reasons for each statement from the choices below.
Given:2x +3 =5x—6
Prove:x =3

Statements: Reasons (Justification):
1) a)
2) b)
3) c)
4) d)
5) e)
Statements: Reasons:
« I=x s  Subtraction Property of Equality
Given
e 2x+3=5x—6 *
e 0 _+3 +  Addition Property of Equality
=X *  Subtraction Property of Equality
x=3 » Division Property of Equality
3=3x—-6 »  Substitution Property
*  Symmetric Property
» Reflexive Property

2. Write a complete proof.
Given: 3x —5 =10
Prove:x = 5

Statements: Reasons (Justification):

(Hint: Work out the problem first, use the steps as statements)
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Standard: Students will be able to prove statements about angles.

3. Fill in the blanks on the following
proof. T
Given: £1 = £2 = 12 g
Prove: 24 = 3 413
Statements: Reasons:
1) 21 =22 a)
2) 242222 b) Vertical angles are =
3) c) Transitive Property of Congruence
4) £1 =43 d)
5) 24 = /3 e)

4. Write a complete proof using the information given.
Given: £2 = 140° 2
Prove: £8 = 40°

Statements: Reasons:
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Standard: Students will be able to prove statements about lines (segments)

5. Complete the proof by filling in the spaces below.
Given: JK=48
Prove: x=9

Statements
1)
2) IL+LK=JK
3)
4) 5x+3=48
5)
6) x=9

_ 4x _ Xx+3
. . °
Reasons L K
a) Given

b)

e)

f)

c) Substitution Property

d) Distributive Property

6. Use the statements and reasons given at the bottom to write a complete proof

of the following:

Given: C is the midpoint of AD.

Prove:x = 4

Statements:

Statements:

2x =12

mAC = mCD
5x=3x+8

AC =~ CD

x=4

C is the midpoint of AD

Ix+ 8 5x
A C D
Reasons:
Reasons:
+ Congruent segments have equal
legth
s Subtraction Property of Equality
*  Given
+  Definition of midpoint
+  Division Property of Equality
e Substitution Property

December 18, 2018
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When creating proofs remember:

Never write

statements

based upon
appearances.

Write statements
based only on

known facts.

Try thinking it through in your head or explaining it to someone
before writing anything down...
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GNENIMB%BT A
PROVE A8rcoTe) L L
Statements: Reasons:

Re=8C \Ven
BC+ CB= 68D s%\}mm—wd\hon Post-

AR+ID=T] [ Substtiwhion
AT

10



4 - 6.2 Geometric Proofs.notebook

December 18, 2018

11



4 - 6.2 Geometric Proofs.notebook

December 18, 2018

GIVEN: /12 /4

PROVE: £2=/3 1 4
Statements: Reasons:

L\ = iven

2| =) Nertia) 45 dre

LY e \urtical s ore =

23 Subshiwtion

s

12
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REASONS

G |VC-”

Verkeal 45T,

Vfﬁ(-cc.a., ol o

}
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6.2A Line Segment and Angle Proofs Name: Hr:

December 18, 2018

1. Given: £AEC = 2DEB
Prove: tAEB =

. ]
2. msAEC = m«DERB 2. VVeL£ oL =
@ 3. MLAEB + mZBEC = mZAEC E 1) h
4. mzD BEC = B 4. { X%
5, meAEB + meBEC = meDEC + meBEC | 5. 0
8. MLAGD = meDEC. 6 . ]
7. 2AEB_= ¢DEC 7

2. Given: BC = DI A—’—D ‘=I

Prove: AC = AB 4+ DE —

3. AC =AB 4 BC
| 4. AC =AB+ DE
S

3. Given: 41 and £2 form a linear pair; 3
me2 +med +mesd = 180°
Prove: ms1 = ms3 + ms4 e

21 and £2 form a linear pair 1
£1 and £2 are supplermentary 2
me2+ me3 +med = 180° 3.
mel+me2 =180° 4,
L5

4

7

L2 = meL2
Ll +mel = meZ + me3 + med
mel =meL3 +med

o o oo o | — [l

4, Given: Bisbetween Aand D; € is between A and D
Prove: AB+ BD =AC+CD

L 4

F 3

BNS e =
. Bis between A and D; € is between 4 an
. AB 4+ BD = AD
LACHCD = AD
. AD=AC+CD
. AB+BD = AC+ CD

L | Cad | B | =

14
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5. Given; 3x—2=x—8
Prove: x= -3

1.
2, 3x—242=x—-8+2 2
3. 3%+0=x—-6 3.
4 3x+{-x)=x+(-x)-86 4.
5 2x=-6 5
b, x= =3 )
D
6. Given: A,B,and C are collinear; AB = BD; BD = BC
Prove: B is the midpeint of AC A" B e

Transitive Property of eq;ld[“’y
Definition of Congruent Segments
- Definition of Midpoint

i o R |—
Eant bl Il

7. Given: AB 1 BC; mz2 =mz3
Prave: ms14 med = 90°

AB | BC; ms2 = me3

1.
2.
3
4
5

b, mel+ms3 =90°

8. Given: AD = 248 + BC
Prave: AR =CD A B C D

LN EEN EAAINI PN |

15
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